

City of Sherwood SW Sunset Blvd (SW Eucalyptus Ter - SW Main St/SW Ladd Hill Rd) Grind and Inlay and Sidewalk Ramp Replacement Bid Tabulation

Bid Closing May 16, 2024 at 2:00 PM

	Oregon											May 17	7, 2024
	Home of the Tualatin River National Wildlife Refu	ige											
					ntractors			Brix Paving		KNL Indus		Engineer's	
ITEM	Description				Total	Unit Price	Total						
1	Mobilization	LS	1	\$8,000.00	\$8,000.00	\$16,800.00			\$17,500.00	\$5,000.00	\$5,000.00	\$22,500.00	\$22,500.00
2	Temporary Work Zone Traffic Control, Complete	LS	1	\$6,000.00	\$6,000.00		. ,	· · ·	\$35,000.00	\$30,000.00	. ,	\$11,000.00	\$11,000.00
3	Erosion Control	LS	1	\$2,000.00	\$2,000.00	\$2,050.00		. ,	\$2,150.00	\$2,500.00	\$2,500.00	\$3,329.41	\$3,329.41
4	Construction Survey Work	LS	1	\$4,000.00	\$4,000.00	\$950.00		\$8,700.00	\$8,700.00	\$11,000.00	\$11,000.00	\$2,843.75	\$2,843.75
5	Removal of Structures and Obstructions	LS	1	\$3,000.00	\$3,000.00	\$1,420.00		. ,	\$2,250.00	\$5,000.00	\$5,000.00	\$2,939.76	\$2,939.76
6	Removal of Asphalt Full Depth	SY	100	\$40.00	\$4,000.00	\$44.70	. ,	\$208.00	\$20,800.00	\$10.00	\$1,000.00	\$40.00	\$4,000.00
7	Removal of Asphalt Partial Depth	SY	475	\$20.00	\$9,500.00	\$15.90			\$14,250.00	\$10.00	\$4,750.00	\$40.00	\$19,000.00
8	Removal of Concrete Curb and Gutter	FT	193	\$5.00	\$965.00	\$11.40	. ,		\$2,605.50	\$50.00	\$9,650.00	\$25.00	\$4,825.00
9	Removal of Concrete Curb	FT	8	\$5.00	\$40.00	\$138.00		· · · ·	\$108.00	\$100.00	\$800.00	\$20.00	\$160.00
10	Removal of Concrete Sidewalk	SY	153	\$10.00	\$1,530.00	\$57.70			\$5,355.00	\$50.00	. ,	\$30.00	\$4,590.00
11	Clearing and Grubbing	LS	1	\$2,000.00	\$2,000.00	\$4,500.00		1	\$3,500.00	\$10,000.00		\$1,000.00	\$1,000.00
12	General Excavation	CY	120	\$40.00	\$4,800.00	\$49.10		\$100.00	\$12,000.00	\$70.00	\$8,400.00	\$90.00	\$10,800.00
13	Adjusting Boxes	EA	15	\$100.00	\$1,500.00	\$171.00		\$315.00	\$4,725.00	\$500.00	\$7,500.00	\$200.00	\$3,000.00
14	Cold Plane Pavement Removal	SY	7,041	\$4.00	\$28,164.00	\$2.80			\$34,500.90	\$4.00		\$6.00	\$42,246.00
15	3/4"-0" Aggregate Base	TON	224	\$50.00	\$11,200.00		\$11,043.20	\$70.00	\$15,680.00		\$11,200.00	\$60.00	\$13,440.00
16	Level 3, 1/2-Inch ACP	TON	120	\$130.00	\$15,600.00	\$195.00	\$23,400.00	\$240.00	\$28,800.00	\$150.00	. ,	\$100.00	\$12,000.00
17	Level 3, 1/2-Inch ACP, Fiber Mix Treated ACP	TON	709	\$120.00	\$85,080.00	\$134.00	\$95,006.00	\$140.00	\$99,260.00	\$125.00	. ,	\$130.00	\$92,170.00
18	Concrete Curb and Gutter	FT	193	\$70.00	\$13,510.00	\$55.00	\$10,615.00	\$56.00	\$10,808.00	\$60.00	\$11,580.00	\$60.00	\$11,580.00
19	Concrete Sidewalk	SF	1,374	\$35.00	\$48,090.00	\$22.75	\$31,258.50	\$25.00	\$34,350.00	\$20.00	\$27,480.00	\$20.00	\$27,480.00
20	Truncated Domes	SF	90	\$50.00	\$4,500.00	\$35.00	\$3,150.00	\$40.00	\$3,600.00	\$60.00	\$5,400.00	\$65.00	\$5,850.00
	Longitudinal Pavement Marking, Thermo, 4-Inch Wide,												
21	Yellow	FT	2,690	\$3.00	\$8,070.00	\$1.85	\$4,976.50	\$2.15	\$5,783.50	\$3.00	\$8,070.00	\$2.00	\$5,380.00
	Longitudinal Pavement Marking, Thermo, 4-Inch Wide,												
22	White	FT	165	\$6.00	\$990.00	\$4.60	\$759.00	\$5.35	\$882.75	\$3.00	\$495.00	\$3.00	\$495.00
	Longitudinal Pavement Marking, Thermo, 8-Inch Wide,												
23	White	FT	155	\$8.00	\$1,240.00	\$5.85	\$906.75	\$6.75	\$1,046.25	\$4.00	\$620.00	\$4.00	\$620.00
24	Pavement Bar, Type AB	SF	280	\$15.00	\$4,200.00	\$11.90	\$3,332.00	\$14.00	\$3,920.00	\$20.00	\$5,600.00	\$13.00	\$3,640.00
25	Pavement Legend, Type AB, Arrows	EA	9	\$400.00	\$3,600.00	\$345.00	\$3,105.00	\$400.00	\$3,600.00	\$400.00	\$3,600.00	\$400.00	\$3,600.00
26	Pavement Legend, Type AB, "X-ING"	EA	1	\$900.00	\$900.00	\$503.00	\$503.00	\$580.00	\$580.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00
27	Pavement Legend, Type AB, "ONLY"	EA	1	\$900.00	\$900.00	\$491.00	\$491.00	\$570.00	\$570.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00
28	Pavement Legend, Type AB, "SCHOOL"	EA	1	\$1,000.00	\$1,000.00	\$640.00	\$640.00	\$740.00	\$740.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00
29	Yard Restoration	LS	1	\$5,000.00	\$5,000.00	\$3,960.00	\$3,960.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$1,000.00	\$1,000.00
TOTAL					,379.00	\$287,2	292.55	\$376,0	64.90	\$319,0	084.00	\$310,9	988.92
Bid writ	tten in words reads "three hundred seventy six thousand	ixty for dolla	ars and ninety c	ents"									

Sherwood Oregon					City of Sherwood Meinecke Roundabout Grind and Inlay Bid Tabulation Bid Closing May 16, 2024 at 2:00 PM May 17, 2024									
Home of the Tualatin River National Wildlife Refuge														
					Knife River (KNL Indus	· · · · ·	Engineer's			
ITEM	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
1	Mobilization	LS	1	\$8,000.00	\$8,000.00	\$7,640.00	\$7,640.00	\$18,500.00	\$18,500.00	\$5,000.00	\$5 <i>,</i> 000.00	\$10,000.00	\$10,000.00	
2	Temporary Work Zone Traffic Control, Complete	LS	1	\$8,000.00	\$8,000.00	\$9,080.00	\$9 <i>,</i> 080.00	\$36,500.00	\$36,500.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00	
3	Erosion Control	LS	1	\$2,000.00	\$2,000.00	\$2,100.00	\$2,100.00	\$1,300.00	\$1,300.00	\$2,500.00	\$2,500.00	\$3,375.00	\$3,375.00	
4	Construction Survey Work	LS	1	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00	\$1,200.00	\$1,200.00	\$10,000.00	\$10,000.00	\$1,218.75	\$1,218.75	
5	Removal of Structures and Obstructions	LS	1	\$2,000.00	\$2,000.00	\$4,340.00	\$4,340.00	\$1,200.00	\$1,200.00	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00	
6	Removal and Restoration of Median Section	SY	1	\$20,000.00	\$20,000.00	\$4,680.00	\$4,680.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	
7	Adjustment of Boxes	SY	3	\$100.00	\$300.00	\$361.00	\$1,083.00	\$315.00	\$945.00	\$500.00	\$1,500.00	\$200.00	\$600.00	
8	Cold Plane Pavement Removal	FT	856	\$12.00	\$10,272.00	\$14.10	\$12,069.60	\$21.00	\$17,976.00	\$15.00	\$12,840.00	\$6.00	\$5,136.62	
9	Level 3, 1/2-Inch ACP, Fiber Mix Treated ACP	FT	86	\$300.00	\$25,800.00	\$170.00	\$14,620.00	\$400.00	\$34,400.00	\$250.00	\$21,500.00	\$130.00	\$11,198.90	
	TOTAL				\$82,372.00		\$63,112.60		\$117,021.00		\$108,340.00		\$64,529.27	



City of Sherwood SW Timbrel Ln (SW Middleton Rd-SW Sunset Blvd) Grind and Inlay and Sidewalk Ramp Replacement **Bid Tabulation** Bid Closing May 16, 2024 at 2:00 PM

May 17, 2024

Home of the Tualatin River National Wildlife Refuse S-2 Contractors Knife River Corporation Brix Paving Northwest KNL Industries. Inc Engineer's Estimate Quantity Unit Price Total Unit Price Unit Price Unit Price Unit Price ITEM Description Unit Total Total Total Total Mobilization LS \$5.000.00 \$5,000.00 \$7,100.00 \$7,100.00 \$6,500.00 \$6,500.00 \$5,000.00 \$5,000.00 \$5.000.00 \$5,000.00 1 1 2 Temporary Work Zone Traffic Control, Complete LS 1 \$5,000.00 \$5,000.00 \$11,900.00 \$11,900.00 \$11,500.00 \$11,500.00 \$20,000.00 \$20,000.00 \$5,000.00 \$5,000.00 3 Erosion Control LS 1 \$2.000.00 \$2.000.00 \$1.740.00 \$1.740.00 \$1,500.00 \$1,500.00 \$2.000.00 \$2.000.00 \$1.500.00 \$1.500.00 LS \$3,030.00 \$3,030.00 \$7,000.00 \$1,000.00 \$1,000.00 4 Construction Survey Work 1 \$4,000.00 \$4,000.00 \$3,600.00 \$3,600.00 \$7,000.00 5 Removal of Structures and Obstructions LS \$3,000.00 \$3,000.00 \$414.00 \$414.00 \$1,200.00 \$1.200.00 \$5,000.00 \$5,000.00 \$1,000.00 \$1.000.00 1 Removal of Asphalt, Full Depth SY \$40.00 \$720.00 \$245.00 \$4,410.00 \$4,950.00 \$180.00 \$720.00 6 18 \$275.00 \$10.00 \$40.00 7 Removal of Asphalt, Partial Depth SY \$20.00 \$560.00 \$192.00 \$5,376.00 \$140.00 \$3.920.00 \$10.00 \$280.00 \$30.00 \$840.00 28 54 8 Removal of Concrete Curb and Gutter FT \$5.00 \$270.00 \$41.70 \$2,251.80 \$13.50 \$729.00 \$50.00 \$2,700.00 \$25.00 \$1,350.00 \$2,485.00 9 Removal of Concrete Sidewalk SY 71 \$10.00 \$710.00 \$31.90 \$2,264.90 \$35.00 \$50.00 \$3,550.00 \$30.00 \$2,130.00 LS \$4.000.00 \$4.000.00 \$3.710.00 \$3.710.00 \$1.350.00 \$1.350.00 \$5.000.00 \$5.000.00 \$500.00 \$500.00 10 Clearing and Grubbing 1 General Excavation CY 5 \$100.00 \$500.00 \$590.00 \$2,950.00 \$105.00 \$525.00 \$300.00 \$1,500.00 \$90.00 \$450.00 11 12 Adjustment of Boxes ΕA 2 \$100.00 \$200.00 \$1,350.00 \$2,700.00 \$315.00 \$630.00 \$500.00 \$1,000.00 \$200.00 \$400.00 13 Cold Plane Pavement Removal SY 962 \$14.00 \$13,468.00 \$14.80 \$14,237.60 \$12.00 \$11,544.00 \$5.00 \$4,810.00 \$6.00 \$5,769.33 14 3'4"=0" Aggregate Base TON 10 \$100.00 \$1.000.00 \$254.00 \$2,540.00 \$130.00 \$1,300.00 \$100.00 \$1,000.00 \$60.00 \$600.00 15 Level 3, 1/2-Inch ACP TON 10 \$200.00 \$2,000.00 \$460.00 \$4,600.00 \$685.00 \$6,850.00 \$200.00 \$2,000.00 \$100.00 \$1,000.00 TON \$170.00 \$16.490.00 \$162.00 \$15,714.00 \$18,721.00 \$150.00 \$14,550.00 \$130.00 \$12,578.35 16 Level 3, 1/2-Inch ACP, Fiber Mix Treated 97 \$193.00 \$60.00 17 Concrete Curb and Gutter FT 54 \$70.00 \$3,780.00 \$63.20 \$3,412.80 \$57.00 \$3,078.00 \$100.00 \$5,400.00 \$3,240.00 18 Concrete Sidewalk SF \$35.00 \$22,365.00 \$25.00 \$15,975.00 \$17,892.00 \$20.00 \$12,780.00 \$20.00 \$12,780.00 639 \$28.00 19 Truncated Domes on New Surface SF \$50.00 \$1,500.00 \$35.00 \$1,050.00 \$1,230.00 \$100.00 \$3,000.00 \$65.00 \$1,950.00 30 \$41.00 Longitudinal Pavement Marking, Thermo, 4-Inch Wide, 20 Yellow FT 450 \$5.00 \$2,250.00 \$3.60 \$1,620.00 \$4.20 \$1,890.00 \$3.00 \$1,350.00 \$2.50 \$1,125.00 Longitudinal Pavement Marking, Thermo, 12-Inch Wide, White FT \$140.00 \$1,820.00 \$93.00 \$1,209.00 \$108.00 \$1,404.00 \$20.00 \$260.00 \$7.00 \$91.00 21 13 22 Pavement Bar, Type AB SF 160 \$15.00 \$2,400.00 \$11.90 \$1,904.00 \$14.00 \$2,240.00 \$25.00 \$4,000.00 \$13.00 \$2,080.00 23 Yard Restoration LS 1 \$2,000.00 \$2,000.00 \$1,460.00 \$1,460.00 \$1,000.00 \$1,000.00 \$2,000.00 \$2,000.00 \$500.00 \$500.00 TOTAL \$95,033.00 \$111,569.10 \$106,038.00 \$99,360.00 \$61,603.68

Discrepancy with bid schedule. Total bid stated as \$99,360.00, but adds up to \$104,360.00



City of Sherwood Sunset, Meinecke, and Timbrel Grind and Inlay project Bid Tabulation Totals Bid Closing May 16, 2024 at 2:00 PM

May 17, 2024

	, ,								
Home of the Tualatin River National Wildlife Refuge	S-2 Contractors	Knife River Corporation	Brix Paving Northwest	KNL Industries, Inc	Engineer's Estimate				
Project Section Name	Total	Total	Total	Total	Total				
Sunset Boulevard Grind and Inlay	\$279,379.00	\$287,292.55	\$376,064.90	\$319,084.00	\$310,988.92				
Meinecke Roundabout Grind and Inlay	\$82,372.00	\$63,112.60	\$117,021.00	\$108,340.00	\$64,529.27				
Timbrel Lane Grind and Inlay	\$95,033.00	\$111,569.10	\$106,038.00	\$99,360.00	\$61,603.68				
TOTAL	\$456,784.00	\$461,974.25	\$599,123.90	\$526,784.00	\$437,121.88				